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Note: (a)All questions are compulsory.

(b)Marks are indicated against each question in square brackets.

solving problems

Q-1: a) Justify that,

(i) Unit step signal is integration of unit impii_léé:ﬁi‘gmil [1, CO-1]
(ii) Laplace Transform is extension of continuous time Fourier transform.  [1, CO-1]

b) Evaluate the Laplace transform and ROijo'r,f_he following signal:
x(t) = 28(¢) we‘tu(t)+ e2tu(t) [2, CO-4]
Q-2: a) Consider the signal | | v
x(t) =e“5tu(t) + e?tu(t)
Indicate the 1_9:oation:-'0f its poles and its region of convergence [3,C0-4]
b) Explain wi'fﬁ.;;;am:plenof each the time shift property [2,C0-4]
Q-3: a) Find the ini,'t_ia] and final value of the signal x(¢) whose Laplace Transform is

1
O = s 0

- b‘-).-ljsing convolution property find the X(s) and x(¢t)
x(t) = e 3u(t) + e %tu(t)

Also, draw the x(t) versus t [3, CO-4}

Page 1 of 2



Q-4: a) Explain the time scaling property of Laplace Transform with giving example.

[2, CO-4]
b) Find the x(t) using partial fraction method for the following X (s):
5545 " _ 5{252+3)
() X(s) = (s+2)(s+3) (i) X(s) = ¢+
C on s-plane [3 C. 4]

Also, in each case, draw x(t) and also draw the RO

ing property of unit impulse signal. [2 C

Q-5: a) Explain the sampli
ple of each: (i) Statlc system (11) Memory

b) Explain each the following giving one exam

system, (iii) Anticipatory system, (iv) Linear system [2,C0-2]
¢) Draw the signal y(t) = u(t—2) * u(t—4) [2,CO-1]
Q-6: a) What do you mean by the necessary and sufﬁc1ent condmon for stability? Explain
T 3, CO-2
b) Give one specific reason, why it is convé:giiie-ﬁé_sz ‘p;'esent a signal with help of Fourier
[2, CO-3]

Series.

Fourier and z-transform of unit impulse signal?

Qu-7: a) What are different transforms - Laplace,
| [2, CO-3]

b) Find z-transform of the following signal:
x[n] = ~2"ul-n~1)

Plot the ROC a_nd also give the Pole-Zero plot of it [2, CO-4]
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